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WIMSH: FEE IR METEE: -0. 1-60MPa RZEVLHE: £0.25%
WEAES: R WEVEH: 0.1-600MPa  #EWIEE: £0.05%
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H 39 X X X3 X4 Xs
1 2020.12.3 10.05 10.05 10.05 10.05 10.10 10.06000 0.05000
2 2020.12.6 10.05 10.00 10.10 10.05 10.10 10.06000 0.10000
3 2020.12.10 10.05 10.05 10.00 10.00 10.05 10.03000 0.05000
4 2020.12.12 10.10 10.05 10.00 10.05 10.10 10.06000 0.10000
5 2020.12.15 10.05 10.05 10.10 10.05 10.00 10.05000 0.10000
6 2020.12.18 10.10 10.05 10.05 10.10 10.05 10.07000 0.05000
7 2020.12.20 10.00 10.00 10.00 10.00 10.05 10.01000 0.05000
8 2020.12.23 10.10 10.00 10.00 10.05 10.05 10.04000 0.10000
9 2020.12.26 10.00 10.05 10.05 10.10 10.05 10.05000 0.10000
10 2020.12.30 10.05 10.00 10.05 10.10 10.05 10.05000 0.10000
X = 10.0480 R= 0.0800
11545 A2= 0.5770 D4= 2.115 D3= 0
SN CL= X = 10.0480  MPa
FEHIZ% UCL- X+ AR= 100942  MPa
75 1) 42 LCL= 3 - _ 10.0018  MPa
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02 CL- R= 0.0800 MPa

EEHL UCL= Dﬁ - 0.1692 MPa
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UCL= 10. 0942
CL=  10. 0480
LCL= 10.0018
UCL=  0.1692
CL= 0. 0800
LCL= 0. 0000

MPa

MPa

MPa

MPa

MPa

MPa



